N D

LA



(/N 100m )

14
[
v

~N O O A~ W NN

FoR—

K 4

173

361

(/N52£100m )

14
[
v

~N S O W NN

FLR—

K 4

357 Wi FEZE

359 JE BH& K

358 PRP Ed

N F KR 4 F T F 1. 0 0 m
B 50 &% 14”7 51 ‘=H Lt (CHE==7) H19
FH) 14”7 2 HE BECEE (/) H 1
ek 15”7 2 BEFET (76 & /)N ) S58
(HZANE24)

(JEUE M 2.7 m)

Ar & BN Rk

LN 1 18”7 9

T&FERAL 2 197 8

N T KR 5 £ XL F 1. 0 0 m

S0 gk FE) 137 5 B FEEE (/) H 2
e 14”7 4 & BET (7 4 /1) S59

(JEEE 7 0.1 m)

AT & AL Hikios
V/4

T&F %L 2 177 7
V/4

T&FARAL 1 16" 6
V/4

T&FARAL DNS

V4

(H¥5 ANE34)



N R 6 FE X F 1.0 0 m

50 &% 137 11 3k B2 (HZERe E#E) H25
e 147 1 &l EE (+#/h)H 1
(KB ANE14)
(/1N6£2100m  P) (JAGE B 1.8 m)
D —a —
R N = V4 Ar & BN ki
v

V4

V4

V4

3656 F EE T&FARFY 1 18”7 3

V4

V4

~N O Ol A~ W DN

V4




I B KR 5 &8 T F 6 00 m

BEiek 1 427 08 FRHE OAE  (BIZEHK)  S57
&gk 1 537 6 TAVIEMRE (3 B /) S58

k=4

R B (H% A B24)
(/N5 24:600mik)

S K 4 AT g NEAL ALk

v
1 / 4

2 357 Wi EZE T&FHRFL 2 27 267 0
3 359 JR & T&EFERFL 1 27 147 4

4 / /4

I KR 6 F X F 8 0 0 m

LS04 2/ 25" 84 K[ W (Ox#idkts77) H18
SEogx 20 397 4 KE W (4 #hs) H18

RB (M ANE14)
(/N6 242800m k)

e R4 BB B 4%

v
1 / /4

2 356 F OEE T&FHREHL 1 3 517 3
3 / V4

4 / /4




RoR &
K £

(/N5 224 X 100mR &)

T&FEEL

FR— K 4
357 hm E%E
358 FRP E
359 J5 B& 3K
360 JRH o

INEREELXLF4L4Xx1T00m!'Y) L —

55”7 2

Bh - FA LAY - LR
JIEE s 0+ S - ZH L

59”7 0 HEM L W10 EE

” DNS

5 e

(HiiG/N) S57
(= )1/1N) S61
(+#/) H 1

(K AB1F—2)



I 2R £ 2 F X F OE OB
B0 ek 4m79 Frm A ( = B )Hao9
RET0o* 4m21 =R 5LF ( + # /) S54
P ] (HEANE34)
AT EEEkR)
N - 3[EETH ~ |8 - . [
i a K 4 & 1 2 3 REaE z 5 Rk JEGER o
- wes| 2.78 | 2.73 | 2.70 265 | 3.20 | 3.09 B
L 360 [ Sk (TERSA 7 | Ty 7 | Doo | 2mT8 | Ty | YyTg | Cog | 3m20 16 1
2| 358 | AR Hik | T&FAREL m m Jgrf“ DNS
. | 212 | 2.00 | 2.01 2.30 | 2.20 | 2.12 ]
3| s6L et TR TERAGR| 554 | Doz | Yo | 2m12 | Tos | ey | Soa | 2m30 | o 2
4 m m 8- 1]
m
5 m m 8- 1A
m
6 m m 8- 1]
m
7 m m 8- 1A
m
8 m m 8- 1]
m
9 m m 8- 1A
m

hNERE2EEERXFY D

AR — L %

HOS &  61md4 FROEE (HEREE#H=) H23
KaFodk 44m82 B w20 ( + #h /) H10
R B (HBAE 1 4)
UMy 7 MR — L k)
NI = 3[EFE T N8 iy B
11 e I N A I AN 7 5 T I el 1%
1| 360 |JE & |T&PEEL| 24.23| 23.48| 22.28| 24m23 | 21.05| 24.74| 26.03| 26mo03 1
2 m m
3 m m
4 m m
5 m m




12 DR

LA



P ¥ K 1 £ X F 1 0 0 m
B 20 4R 12”7 73 &k B (HEALEY) H25
ek 13”7 8t BEE (A #B H ) S56
(HHANE34)
(F1%4&100m ) (JAGE A 3.3 m)
1
I N = VIR 4 AT @ NEAL kS
v
1 V/4
2 174 NEE PR Lok 3 177 3
3 V/4
4 177 BEH B¥ LRk 2 177 3
5 V/4
6 176 WIR Kk Zk—r 1 177 0
7 V/4
B F &R 2 £ T F 1 0 0 m
B 30 &k 12”7 38 ‘=M@ LtiF (4 H ® ) H23
127 3 HiE Foi (fA7TDUH)  H1
e 137 3 JFH EET (% 3k =) H4
(M NE44)
(F124100m ) (BUE B 3.2 m)
1
s K4 Fr & NEf.  FoEk
v
1 V4
2 168 T #HEF Lk 4 157 7
3 V4
4 171 A Wi Lk 2 147 6
5 V4
6 214 Tk Kz Lk=rh 3 157 4
7 V4
8 173 HE KEM LK 1 147 5




h ¥ B 3 &£ X% F 1 0 0 m

5 =0 G 12”7 38 ‘HH Lt (4% H ® ) H24
—F BR ( B FE 1) H25

127 3 ik £ (A7) H2
ESETRE o

(Hi¥% NB544)
(F134100m ) (EU#E 3B 1.7 m)

v

N = VI T == B [/ VAR ot 2

v

1
2 157 IV BEEFH ok 1 137 3
3 V/4
4 159 [A 135wk 2 137 6
5 V/4
6 164 Ji LA LS — 3 147 4
7 V/4

(F134100m ) (€ B 1.8 m)
e K4 TR OJEN i

v

I

158 JEjiE = ek —rh 1 14”7 0

ek —rh 2 15”7 0

V4

V4

N O Ol AW NN =
—
(o)
—
5
5
S
R

V4




> AN L
icrelr=1lI-k72

(P34 100miR ) _

MEsr T f [ L= 1Fonx—1 K £ oL & AL $K JEBES
1 1 157 JIE B 42 sfe—rh 137 3 +1.7
2 1 159 AR 135 k—rh 137 6 +1.7
3 2 158  |EjE = ZR—r 14”7 0 +1.8
4 1 164 |5 TEHR k—rh 4”7 4 +1.7
5 2 161 miE hY 42 sfe—rh 157 0 +1.8
6 V/4
7 V/4
8 V/4




b 2 KR £ ¥ £ X F 2 00 m

B 50 &k 247 79 kW EHZE (e @ =) H15
EELk 28”7 8 HR AKX (A7 #5 ) H9
R (% NE344)
(4 £2200mik:) (JEUE B 2.1 m)

Do K 4 BT R OJER sk

V4

218 WL BAE k= 3 33”7 7

V4

<

163 [l 3B Zek—rh 1 277 2

V4

169 Z#H ZE LkR—H 2 28”7 5

V4

O N O O = W DN

219 JRH #EIRT 2k = 4 357 2

B % B 1 & &* F 8 0 0 m

Wacgx 20 18”256 f@H ¥ (jL—r) H23
ALk

R B (B ANE14)
(F114800m )

12

G K4 BT R ik

v
1 / V4

2 175 fEE HA Lk 1 27 49 7 4
3 / V4
4

/ V4




h % % 2 & &£ F 8 0 0 m

IR 2 117 77 falw th v (WET)  S63
DNEE 2 257 7 VI & (Zk—H) H4

R (HHANB24)
(F1222800m k)

U e K 4 Ar & EAZ ALK

v
1 216 @32 Wy Zk=r 1 37 37 8

/ 4

2
3 / V4
4 / V4
m F B 3 £ ZL F 8 0 0 m
ISR S 2 11777 f&E v (¥ET)  S63
KETod*
R (HHANB24)
(F1322800m k)

l/ iy
o= K 4 AT & JEAL ki

1 160 1EpE Kk Zk—r 1 2/ 57 1
165 i AW Lk— 2 27 517 0

/ /4

/ /4




DB 1 ELFAX100mYL —

B 3 & 52”7 87 YW - LA ITFH GAEEH) R 2
K & F & 567 3 JITE-EE B - i R R 1
P, ] (M AB1TF—24)
(F1144 X 100mR )
2k (1)
g FrR— K 4
1 174 Nk =PEE 667 9

3 176 AR KK
2 177 B 2%
4 175 FEl A7

b ¥ K2EXF4Xx100ml L —

1 N T = < 50” 81 e R - RKEF- 1)1 (KtkH) H25
X &= it &
R (B AR2F—2)
(F1244 X 100mR )
3 k= (2) 4 22— (1)
e e e
= > K 4 = Fv K 4
1 213 /N B 617 1 3 173 EHE AEN 58 7 6
4 214 WTiE R 2 169 %A kE
( ) 216 &N R 1 171 Al W2
2 217 FHI s ( ) 172 fhye
3 218 ML ERAE 4 170 mFE ez
( ) 219 JRH HEAST- ( ) 168 T #FEFH



DB IEKLFAXT100mYL —

B &k 49" 20 JHRIT - EA BRI - 1R (FH) R1
R = FL d

R (HBANBE1F—2)
(F34c4 X 100mR k&)

5 sk (1)

B & 4%

%

1 157 JIIvE &

159 [A 132

163 Figil 32

() 158 )8k =

() 164 J7 1B
4 156 =g EHi#

547 3

s

w Do

v
8



b2 R £ 2 £ KX F OB oA &
B gk 14mb5 T FH (EEPEH)  s48
RLE 11m52  &MAE A (ZF=%) H5
R (WG AE 2 £4)
(2 Ak ILEER)
EA . . SEECO ~A18 o &
| R A (TR Y )28 Ememl a5 ] R |
1| 211 (R AhE |[Zek=d1| 6.05]  4.22|  5.22] 6mo5 5.62| 5.72| 5.61] 6mos 2
2| 212 [itH »FY  |Zok=w| 596 6.76| 5.81| 6m76 6.37| 6.07| 5.54| 6m76 1
3 m m
4 m m
5 m m
h ¥ R & %2 £ £ F E @ OB
B Bk 5m73 =H 2T (K f 7 ) H28
PN 4m73  feE EEF (L kK — ) H15
R (WG ANE44)
(a2 R pkk)
BN . 3EETH N8 . &
Fros— —= AL A o
[ e K 4 Ar e 1 2 3 BE e = z ko @Lf i
e w0l 3.30 | 3.54 | 3.72 3.62 | 3.80 | 3.67 ]
N o pEE AveR EKR W) Lo | vos | sos | 9MT2 | Yoo | Yoo | Sie | M9 ) gp | 8
- s w1 ] 3.26 | 3.81 | 3.67 3.40 | 3.90 | 3.88 1A
2] 218 B R PR S | Yo | e | ™S | Vi | e | vis | S0 | o6 | 2
3| 172 |fh Zsk—if m m | 2 s
) 1 384 | 3.43 | 3.38 355 | 3.81 | 3.96 If]
[==4 ~ 7= st —
o R R e el W I B e e B Y !
5 m m 8- [f)
m
6 m m 8- [f)
m
7 m m 8- [f)
m
8 m m 8- [f)
m
9 m m 8- [f)
m




